2022 FEKFR EF R E N )\ F &

BESHER

N ﬁ%@
1.A 2.C 3.B 4D 5C 6.D 7.D 84 9.C 10.Cc 11. D 12.C
—. HZEE
13.x= -3 14, > 15.5 16.0, 1 17.% 18. - 1852
=. REB
19. (1) fi#: J?\fﬁ=1+%+2’u{§—3+4 4 %%
:_?“B@Jrz. 5 4
(2) fR: HEWILHEIE x - 3, 15 3=x - 3+3x, 2 4
B x=2, 3 4%
Bk ﬁngw, x- 370, Fﬁung%ﬁﬁﬁﬁﬁﬁﬁ, 4%
H) i) ng. 5 45
20. fii¢: (1) W, B DE IR, 347
A
D
B e
(2) ABCE NZ%E=f. 5%)

2022 FERIAE \FER H10( 34 1)



21 ff: (1D | F 1:5,
-1
Sodxty=S5,
Soy= - dxt5; 34y
(2) “y3x=k IEREE R A 34,
S Axt5H3x =k, B << - kS O IEBEUR R A 3,
L3 - kH5<4
S1<k=<2. 75

22. . (1) " a<<0, >0,
. -a> - b;
WERN: >; 35

(2) o< -1, 0<b<I1,

So1l-a>0, -b+1>0, b-a>0,

11 -a|-|-b+1[Hb - al,

=l-a- (-b+l1) +b-a,

=2b - 2a. 84

23, fif: (1D BHIEIBAE x N, ZR8IA y A,

- Jl'xw=32 e { x=12
NST e ) ﬁﬁF 5T ¢ ’
420 % +440+=13 340 w=20

&

o

=y

el

S

% WA 12 N, ZAaiBAA 20 A

(2) B ZATMIBA T 2D I z AN A BEARAIE 24K 58 AE 55,
s 8X420+4402=>8640,
ﬁg’/f%’: 2212’

% CRTIIANTE 2 /DL 12 A REORAIE 24 K 58 AT 55

2022 SERIAE \FER Homi( 34 1)

2



24, f#: (1) UEBH: " AE P49 £BAC,

S Z/BAE= /CAE,

' LCAE= ZCEA,

S Z/BAE= /CEA,

~.AB// CD; 4 4y
(2) " £C=50°,

S LCAE+/CEA=180° - £C=130° ,

' LCAE= Z/CEA,

.’.LCEAZZCAEZéXBO0 =65° . 81

25. (1) HFBH: " AABC 2 =A%,
S AB=CA, /BAE=./C=60° ,
1E ANAEB F1ACDA H,

AR=CA

ZBAE=C,

AR=CT
S ANAEBLACDA (SAS). 39
(2) fi#: " NAEBL/\CDA,
S ZABE= /CAD,

. ZBPQ= /BAD+ /ABE= /BAD+ ./ CAD= Z/BAC=60" ,
S ZEPQ=180° - ZBPQ=120° ,
S ZEPQ [NEHE 120° .

(3) f#: "*BQLAD T Q, PQ=17, PE=3,

S ZPOB=90° ,

S ZBPO=60° ,

S ZPBO=30° ,

S BP=2PQ=2X7=14,

S BE=BP+PE=14+3=17,

S BE KA 17. 10 4%

ol
N
=

2022 SERIAE \FEH H30( 4 7)



26. 7 (1D V526 =4[( /7 £/3)2

=+/3+4/2, 2 4%
1242735 =V (/T £4/5 )2
=7 4[5, 4%
() Votefz =yt 18
Vo3 755
<3>«fz~ﬁ+«fg e \f\/mz\f
AFF T
A
“’r_ 10 4

2022 SERKIAE \FER H4am( 34 7))



